
 

 

 

 

 

 

 

 



 2 

 

Ω

Ω] 

 



3  

Ω / 

ϕ=1 



 4 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



5  

 



 6 



7  



 8 



9  

τ = 5 τ = 10 τ = 20 τ = 40



 10 

τ = 5 τ = 10 τ = 20 τ = 40



11  

τ = 5 τ = 10 τ = 20 τ = 40



 12 

τ = 5 τ = 10 τ = 20 τ = 40



13  

 

 

 

 

 

 

 

 



 14 

 

 

 

 

 

 

 

RN 



15  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Ω Ω) 

CMQ-H 400 CH(T) 281 22R KT 

CBH / CBV / CBR CBT-V / CBT-H CBS / CMQ /CVS / HVBS CBW-V / CBW-H 

SIGMA OHMEGA - Air WHHB / WHBS / WHBSA TERA OHMEGA - Water 

CCH / CAV / CAH / CAR 
Water cooled 

CBH / CBV / CBR 


